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CIRCUIT ALIGNMENT
Equipment Required.—An A.M. signal
generator; an insulated wire coupling
loop and a bladed type trimming tool.
1.—Switch to M\W. and turn the tuning

gang to maximum capacitance, Dis-
connect L3 from C7 and connect the
signal generator between the free end
of C7 and chassis,

2.~—Feed in a 470kc/s modulated signal
and adjust the cores of T3, T2 and
T1 for maximum output.

3.—Switch to LW, Feed in a 200kc/s
signal and adjust the core of L4 (loca-
tion reference B3) for maximum output.

PYE
P201BQ, P202BQ

4.—Switch to M.W. and tune to 200m.
Feed in a 1,500ke/s signal and adjust
C6 (A2) for maximum output,

5.—Tune to 500m. Disconnect the sig-
nal generator and reconnect L3 to C7.
Connect the coupling loop across the
signal generator output leads and place
the loop in line with the ferrite rod
about 50cms away from the centre of
the rod on the L1 side,

6.—Feed in a 600kc/s signal and position
L1 on the ferrite rod for maximum
outpur.

7.—Tune to 200m. Feed in a 1,500kc/s
signal and adjust C3 (B2) for maximum
output,

8.—Repeat operations 5, 6 and 7 until
the tracking is correct then seal L1
in position with bitumen,

9.—Switch to L.W. Feed in a 200kc/s
signal via the loop as in operation 5
and position L2 on the ferrite rod for
maximum output. Seal L2 with
bitumen.

TRANSISTOR ANALYSIS

Transistor voltages given in the table
below were compiled from information
supplied by the manufacturer. They were
measured on an Avometer model 8. The
receiver was switched to MW, with the
tuning gang at maximum capacitance.
There was no signal input. All readings
are negative with respect to chassis.

Transistor Table

Collector
Transistor Emitter | Base
v 4 V) | (mA)

TR1 NKT152 | 08 085 | 37 | 05
TR2 NKT153 | 045 | 060 | 38 | 10
TR3 NKT154 | 070 | 085 | 38 | 15
TR4 §r§€254 0-85 1-0 43 09
"NKT251 | 005 | 02 | 445 | 2.0

. Total current consumption; 6-9mA with no signal
mput,



